Hilton Grand Vacations

2018 CLUB REFERENCE



2 HILTON GRAND VACATIONS CLUB RULES

FLORIDA RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for Florida Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations Club at Tuscany Village

Tuscany Village Vacation Suites (Orlando, FL)

POINTS REQUIREMENTS

PLATINUM: Weeks 6-15, 24-32, 51-52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 Bedroom	480	960	4,800
2 Bedroom	700	1,400	7,000
3 Bedroom	840	1,680	8,400

GOLD: Weeks 1-5, 16-23, 33-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
1 Bedroom	340	680	3,400
2 Bedroom	500	1,000	5,000
3 Bedroom	580	1,160	5,800

Studio	\$109	\$129	\$823
1 Bedroom	\$130	\$156	\$988
2 Bedroom	\$185	\$211	\$1,373
3 Bedroom	\$255	\$286	\$1,878

Studio	\$77	\$98	\$602
1 Bedroom	\$99	\$120	\$756
2 Bedroom	\$153	\$174	\$1,134
3 Bedroom	\$224	\$245	\$1,631

FLORIDA RESORTS:

Club Point Requirements and Open Season Rental, Continued

Parc Soleil by Hilton Grand Vacations Club

RL Vacations Suites (Orlando, FL)

POINTS REQUIREMENTS

PLATINUM: Weeks 6-15, 24-32, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	350	700	3,500
Studio Penthouse	350	700	3,500
Studio Pent. Prem.	620	1,240	6,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
1 BR Penthouse	620	1,240	6,200
1 BR Pent. Prem.	840	1,680	8,400
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
2 BR Penthouse	840	1,680	8,400
2 BR Pent. Prem.	960	1,920	9,600
3 Bedroom	840	1,680	8,400
3 BR Penthouse	960	1,920	9,600

GOLD: Weeks 1-5, 16-23, 33-50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
Studio Plus	250	500	2,500	
Studio Penthouse	250	500	2,500	
Studio Pent. Prem.	420	840	4,200	
1 Bedroom	340	680	3,400	
1 Bedroom Plus	420	840	4,200	
1 BR Penthouse	420	840	4,200	
1 BR Pent. Prem.	580	1,160	5,800	
2 Bedroom	500	1,000	5,000	
2 Bedroom Plus	580	1,160	5,800	
2 BR Penthouse	580	1,160	5,800	
2 BR Pent. Prem.	700	1,400	7,000	
3 Bedroom	580	1,160	5,800	
3 BR Penthouse	700	1,400	7,000	

\$109	\$129	\$823
\$120	\$146	\$918
\$130	\$156	\$988
\$140	\$166	\$1,058
\$130	\$156	\$988
\$155	\$181	\$1,163
\$280	\$300	\$2,020
\$290	\$310	\$2,090
\$185	\$211	\$1,373
\$200	\$226	\$1,478
\$339	\$375	\$2,481
\$367	\$403	\$2,677
\$255	\$286	\$1,878
\$386	\$459	\$2,921
	\$120 \$130 \$140 \$130 \$155 \$280 \$290 \$185 \$200 \$339 \$367 \$255	\$120 \$146 \$130 \$156 \$140 \$166 \$130 \$156 \$155 \$181 \$280 \$300 \$290 \$310 \$185 \$211 \$200 \$226 \$339 \$375 \$367 \$403 \$255 \$286

\$77	\$98	\$602
\$89	\$110	\$686
\$99	\$120	\$756
\$109	\$130	\$826
\$99	\$120	\$756
\$124	\$145	\$931
\$240	\$260	\$1,740
\$250	\$270	\$1,810
\$153	\$174	\$1,134
\$164	\$185	\$1,211
\$299	\$315	\$2,141
\$320	\$341	\$2,303
\$224	\$245	\$1,631
\$346	\$366	\$2,482
	\$89 \$99 \$109 \$99 \$124 \$240 \$250 \$153 \$164 \$299 \$320	\$89 \$110 \$99 \$120 \$109 \$130 \$99 \$120 \$124 \$145 \$240 \$260 \$250 \$270 \$153 \$174 \$164 \$185 \$299 \$315 \$320 \$341 \$224 \$245

4 | HILTON GRAND VACATIONS CLUB RULES

FLORIDA RESORTS:

Club Point Requirements and Open Season Rental, Continued

Las Palmeras, a Hilton Grand Vacations Club

LP Vacation Suites (Orlando, FL)

POINTS REQUIREMENTS

PLATINUM: Weeks 6-17, 22-34, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400

GOLD: Weeks 1-5, 18-21, 35-50			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	160	320	1,600
Studio Plus	160	320	1,600
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800

Studio	\$109	\$129	\$823
Studio Plus	\$120	\$146	\$918
1 Bedroom	\$130	\$156	\$988
1 Bedroom Plus	\$155	\$181	\$1,163
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$200	\$226	\$1,478

			,
Studio	\$77	\$98	\$602
Studio Plus	\$89	\$110	\$686
1 Bedroom	\$99	\$120	\$756
1 Bedroom Plus	\$124	\$145	\$931
2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$164	\$185	\$1,211

FLORIDA RESORTS:

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at McAlpin - Ocean Plaza

South Beach Vacation Suites (South Beach, FL)

POINTS REQUIREMENTS

	PLATINUM: Weeks 1-17, 23-33, 51-52					
UNIT SIZE		M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
	1 Bedroom	480	960	4,800		
	2 Bedroom	700	1,400	7,000		

GOLD: Weeks 18-22, 34-50				
UNIT SIZE	F-SU Nightly	7 NIGHT WEEK		
1 Bedroom	340	680	3,400	
2 Bedroom	500	1,000	5,000	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

1 Bedroom	\$130	\$156	\$988
2 Bedroom	\$185	\$211	\$1,373

1 Bedroom	\$99	\$120	\$756
2 Bedroom	\$153	\$174	\$1,134

Hilton Grand Vacations Club at SeaWorld

Orlando Vacation Suites (Orlando, FL)

POINTS REQUIREMENTS

PLATINUM: Weeks 6–15, 24–32, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	220	440	2,200	
1 BR	480	960	4,800	
2 BR	700	1,400	7,000	
3 BR	840	1,680	8,400	
3 BR+	960	1,920	9,600	

GOLD: Weeks 1-5, 16-23, 33-43				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	
3 BR	580	1,160	5,800	
3 BR+	700	1,400	7,000	

	SILVER: Weeks 44–50					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK			
Studio	110	220	1,100			
1 BR	240	480	2,400			
2 BR	350	700	3,500			
3 BR	410	820	4,100			
3 BR+	480	960	4,800			

Studio	\$109	\$129	\$823
1 BR	\$130	\$156	\$988
2 BR	\$185	\$211	\$1,373
3 BR	\$255	\$286	\$1,878
3 BR+	\$286	\$326	\$2,122

	Studio	\$77	\$98	\$602
	1 BR	\$99	\$120	\$756
	2 BR	\$153	\$174	\$1,134
	3 BR	\$224	\$245	\$1,631
	3 BR+	\$256	\$276	\$1,852
1				

Studio	\$67	\$88	\$532
1 BR	\$89	\$110	\$686
2 BR	\$143	\$164	\$1,064
3 BR	\$214	\$234	\$1,558
3 BR+	\$246	\$266	\$1,782

BIG ISLAND, HAWAII RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for Big Island Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY Reservation Window begins 365–276 days	CLUB SEASON Reservation Window begins 276 days	OPEN SEASON Rental Reservation Window begins 30 days
prior to check-in	prior to check-out	prior to check-out

Kohala Suites by Hilton Grand Vacations Club

Kohala Coast Vacation Suites (Waikoloa, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1-18, 23-35, 42-52					
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY NIGHTLY WEEK					
2 Bedroom	700	1,400	7,000		
2 Bedroom Plus	840	1,680	8,400		
2 Bedroom Prem.	960	1,920	9,600		

GOLD: Weeks 19-22, 36-41				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom	500	1,000	5,000	
2 Bedroom Plus	580	1,160	5,800	
2 Bedroom Prem.	700	1,400	7,000	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$217	\$276	\$1,696
2 Bedroom Prem.	\$250	\$276	\$1,828

2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$180	\$201	\$1,323
2 Bedroom Prem.	\$214	\$234	\$1,558

The Bay Club at Waikoloa Beach Resort

The Bay Club Vacation Ownership Program (Waikoloa, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	480	960	4,800	
2 Bedroom	700	1,400	7,000	
2 Bedroom Plus	840	1,680	8,400	

GOLD: Weeks 19-22, 36-41					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
1 Bedroom	340	680	3,400		
2 Bedroom	500	1,000	5,000		
2 Bedroom Plus	580	1,160	5,800		

1 Bedroom	\$158	\$184	\$1,184
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$217	\$276	\$1,696

1 Bedroom	\$126	\$147	\$945
2 Bedroom	\$180	\$201	\$1,323
2 Bedroom Plus	\$214	\$234	\$1,558

BIG ISLAND, HAWAII RESORTS:

Club Point Requirements and Open Season Rental, Continued

Kings' Land by Hilton Grand Vacations Club

WBKL Vacation Suites (Waikoloa, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
1 Bedroom	480 / 720	960 / 1,440	4,800 / 7,200		
1 Bedroom Plus	620 / 930	1,240 / 1,860	6,200 / 9,300		
1 Bedroom Premier	1,260	2,520	12,600		
2 Bedroom	700 / 1,050	1,400 / 2,100	7,000 / 10,500		
2 Bedroom Plus	840 / 1,260	1,680 / 2,520	8,400 / 12,600		
2 Bedroom Premier	1,440	2,880	14,400		
3 Bedroom	1,260	2,520	12,600		
3 Bedroom Premier	1,725 / 2,300	3,450 / 4,600	17,250 / 23,000		

GOLD: Weeks 19-22, 36-41				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	340 / 510	680 / 1,020	3,400 / 5,100	
1 Bedroom Plus	420 / 630	840 / 1,260	4,200 / 6,300	
1 Bedroom Prem	870	1,740	8,700	
2 Bedroom	500 / 750	1,000 / 1,500	5,000 / 7,500	
2 Bedroom Plus	580 / 870	1,160 / 1,740	5,800 / 8,700	
2 Bedroom Premier	1,050	2,100	10,500	
3 Bedroom	870	1,740	8,700	
3 Bedroom Premier	1,440 / 1,920	2,880 / 3,840	14,400 /19,200	

\$158	\$184	\$1,184
\$185	\$211	\$1,373
\$217	\$243	\$1,597
\$185	\$211	\$1,373
\$217	\$276	\$1,696
\$250	\$276	\$1,828
\$255	\$286	\$1,878
\$530	\$603	\$3,929
	\$185 \$217 \$185 \$217 \$250 \$255	\$185 \$211 \$217 \$243 \$185 \$211 \$217 \$276 \$250 \$276 \$255 \$286

1 Bedroom	\$126	\$147	\$945
1 Bedroom Plus	\$153	\$174	\$1,134
1 Bedroom Prem.	\$180	\$201	\$1,323
2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$180	\$201	\$1,323
2 Bedroom Prem.	\$214	\$234	\$1,558
3 Bedroom	\$224	\$245	\$1,631
3 Bedroom Prem.	\$488	\$509	\$3,479

8 | HILTON GRAND VACATIONS CLUB RULES

OAHU, HAWAII RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for the following Oahu, Hawaii Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Lagoon Tower by Hilton Grand Vacations Club

Hawaiian Village Vacation Suites (Oahu, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			-52
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
2 Bedroom Prem.	960	1,920	9,600
3 Bedroom Plus	960	1,920	9,600

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
2 Bedroom Prem.	700	1,400	7,000
3 Bedroom Plus	700	1,400	7,000

Studio	\$125	\$145	\$935
1 Bedroom	\$158	\$184	\$1,184
1 Bedroom Plus	\$185	\$211	\$1,373
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$217	\$276	\$1,696
2 Bedroom Prem.	\$250	\$276	\$1,828
3 Bedroom Plus	\$318	\$359	\$2,349

(88 ara) - b				
Studio	\$99	\$120	\$756	
1 Bedroom	\$126	\$147	\$945	
1 Bedroom Plus	\$153	\$174	\$1,134	
2 Bedroom	\$153	\$174	\$1,134	
2 Bedroom Plus	\$180	\$201	\$1,323	
2 Bedroom Prem.	\$214	\$234	\$1,558	
3 Bedroom Plus	\$286	\$307	\$2,065	

OAHU, HAWAII RESORTS:

Club Point Requirements and Open Season Rental, Continued

Grand Waikikian by Hilton Grand Vacations Club

GW Vacation Suites (Oahu, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
1 Bedroom Prem.	1,260	2,520	12,600
2 Bedroom	1,050	2,100	10,500
2 Bedroom Plus	1,260	2,520	12,600
2 Bedroom Prem.	1,440	2,880	14,400
2 Bedroom Pent.	2,400	4,800	24,000
3 Bedroom Pent.	2,875	5,750	28,750

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	510	1,020	5,100
1 Bedroom Plus	630	1,260	6,300
1 Bedroom Prem.	870	1,740	8,700
2 Bedroom	750	1,500	7,500
2 Bedroom Plus	870	1,740	8,700
2 Bedroom Prem.	1,050	2,100	10,500
2 Bedroom Pent.	1,750	3,500	17,500
3 Bedroom Pent.	2,400	4,800	24,000

1 Bedroom	\$158	\$184	\$1,184
1 Bedroom Plus	\$185	\$211	\$1,373
1 Bedroom Prem.	\$217	\$243	\$1,597
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$217	\$276	\$1,696
2 Bedroom Prem.	\$250	\$276	\$1,828
2 Bedroom Pent.	\$468	\$505	\$3,387
3 Bedroom Pent.	\$530	\$603	\$3,929

\$126	\$147	\$945
\$153	\$174	\$1,134
\$180	\$201	\$1,323
\$153	\$174	\$1,134
\$180	\$201	\$1,323
\$214	\$234	\$1,558
\$422	\$442	\$3,014
\$488	\$509	\$3,479
	\$153 \$180 \$153 \$180 \$214 \$422	\$153 \$174 \$180 \$201 \$153 \$174 \$180 \$201 \$214 \$234 \$422 \$442

OAHU, HAWAII RESORTS:

Club Point Requirements and Open Season Rental, Continued

Kalia Suites by Hilton Grand Vacations Club

KT Vacation Suites (Oahu, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1-18, 23-35, 42-52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	160	320	1,600
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$125	\$145	\$935
1 Bedroom	\$158	\$184	\$1,184
1 Bedroom Plus	\$185	\$211	\$1,373

Studio	\$99	\$120	\$756
1 Bedroom	\$126	\$147	\$945
1 Bedroom Plus	\$153	\$174	\$1,134

Reservation Windows for the following Oahu, Hawaii Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–186 days	begins 186 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hokulani Waikiki by Hilton Grand Vacations Club

BW Vacation Suites (Oahu, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom Plus	620	1,240	6,200
1 Bedroom Prem.	840	1,680	8,400

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom Plus	420	840	4,200
1 Bedroom Prem.	580	1,160	5,800

1 Bedroom Plus	\$185	\$211	\$1,373
1 Bedroom Prem.	\$217	\$243	\$1,597

1 Bedroom Plus	\$153	\$174	\$1,134
1 Bedroom Prem.	\$180	\$201	\$1,323

OAHU, HAWAII RESORTS:

Club Point Requirements and Open Season Rental, Continued

The Grand Islander by Hilton Grand Vacations Club

GI Vacation Suites (Oahu, HI)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
1 Bedroom Prem.	1,260	2,520	12,600
1 BR Prem Lux.	1,680	3,360	16,800
2 Bedroom	840	1,680	8,400
2 Bedroom Plus	1,260	2,520	12,600
2 Bedroom Prem.	1,440	2,880	14,400
2 BR Prem Lux.	1,920	3,840	19,200
2 Bedroom Pent.	1,750	3,500	17,500
2 Bedroom Pent. Plus	2,100	4,200	21,000
2 BR Pent. Prem.	2,400	4,800	24,000
3 BR Pent. Prem.	2,875	5,750	28,750

GOLD: Weeks 19-22, 36-41				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	510	1,020	5,100	
1 Bedroom Plus	630	1,260	6,300	
1 Bedroom Prem.	870	1,740	8,700	
1 BR Prem Lux.	1,160	2,320	11,600	
2 Bedroom	580	1,160	5,800	
2 Bedroom Plus	870	1,740	8,700	
2 Bedroom Prem.	1,050	2,100	10,500	
2 BR Prem Lux.	1,400	2,800	14,000	
2 Bedroom Pent.	1,250	2,500	12,500	
2 Bedroom Pent. Plus	1,450	2,900	14,500	
2 BR Pent. Prem.	1,750	3,500	17,500	
3 BR Pent. Prem.	2,400	4,800	24,000	

\$158	\$184	\$1,184
\$185	\$211	\$1,373
\$217	\$243	\$1,597
\$285	\$306	\$2,058
\$185	\$211	\$1,373
\$217	\$276	\$1,696
\$250	\$276	\$1,828
\$468	\$505	\$3,387
\$468	\$505	\$3,387
\$468	\$505	\$3,387
\$468	\$505	\$3,387
\$530	\$603	\$3,929
	\$185 \$217 \$285 \$185 \$217 \$250 \$468 \$468 \$468	\$185 \$211 \$217 \$243 \$285 \$306 \$185 \$211 \$217 \$276 \$250 \$276 \$468 \$505 \$468 \$505 \$468 \$505

1 Bedroom	\$126	\$147	\$945
1 Bedroom Plus	\$153	\$174	\$1,134
1 Bedroom Prem.	\$180	\$201	\$1,323
1 BR Prem Lux.	\$244	\$265	\$1,771
2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$180	\$201	\$1,323
2 Bedroom Prem.	\$214	\$234	\$1,558
2 BR Prem Lux.	\$422	\$442	\$3,014
2 Bedroom Pent.	\$422	\$442	\$3,014
2 Bedroom Pent. Plus	\$422	\$442	\$3,014
2 BR Pent. Prem.	\$422	\$442	\$3,014
3 BR Pent. Prem.	\$488	\$509	\$3,479

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for Las Vegas Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations Club on the Boulevard

Las Vegas Boulevard Vacation Suites (Las Vegas, NV)

POINTS REQUIREMENTS

PLATINUM: Weeks 9-20, 37-43, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
3 Bedroom Plus	960	1,920	9,600

GOLD: Weeks 1-8, 21-36, 44-50					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio	160	320	1,600		
Studio Plus	160	320	1600		
1 Bedroom	340	680	3,400		
1 Bedroom Plus	420	840	4,200		
2 Bedroom	500	1,000	5,000		
2 Bedroom Plus	580	1,160	5,800		
3 Bedroom Plus	700	1,400	7,000		

Studio	\$109	\$129	\$823
Studio Plus	\$142	\$168	\$1,072
1 Bedroom	\$147	\$173	\$1,107
1 Bedroom Plus	\$168	\$194	\$1,254
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$218	\$244	\$1,604
3 Bedroom Plus	\$265	\$306	\$1,978

(- 0 0)	(88 am) - h amount amount			
Studio	\$77	\$98	\$602	
Studio Plus	\$111	\$132	\$840	
1 Bedroom	\$116	\$137	\$875	
1 Bedroom Plus	\$137	\$158	\$1,022	
2 Bedroom	\$153	\$174	\$1,134	
2 Bedroom Plus	\$181	\$202	\$1,330	
3 Bedroom Plus	\$233	\$254	\$1,694	

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at the Flamingo

FHRC Suites (Las Vegas, NV)

POINTS REQUIREMENTS

Week	PLATI s 9–20, 3	NUM: 37–43, 5	1–52
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 BR	480	960	4,800
2 BR	700	1,400	7,000

GOLD: Weeks 5–8, 21–36, 44–48					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio	160	320	1,600		
1 BR	340	680	3,400		
2 BR	500	1,000	5,000		

v	SILV Veeks 1-	/ER: 4, 49–5()
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	110	220	1,100
1 BR	240	480	2,400
2 BR	350	700	3,500

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$109	\$129	\$823
1 BR	\$143	\$173	\$1,107
2 BR	\$185	\$211	\$1,373

Studio	\$77	\$98	\$602
1 BR	\$116	\$137	\$875
2 BR	\$153	\$174	\$1,134

Ī	-9			
	Studio	\$67	\$88	\$532
	1 BR	\$106	\$126	\$802
	2 BR	\$143	\$164	\$1,064

Hilton Grand Vacations Club on Paradise

Las Vegas Vacation Suites (Las Vegas, NV)

POINTS REQUIREMENTS

PLATINUM: Weeks 9–20, 37–43, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	220	440	2,200	
1 BR	480	960	4,800	
2 BR	700	1,400	7,000	

GOLD: Weeks 5–8, 21–36, 44–48					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio	160	320	1,600		
1 BR	340	680	3,400		
2 BR	500	1,000	5,000		

SILVER: Weeks 1-4, 49-50					
UNIT SIZE M-TH F-SU 7 NIGH					
Studio	110	220	1,100		
1 BR	240	480	2,400		
2 BR	350	700	3,500		

Studio	\$109	\$129	\$823
1 BR	\$147	\$173	\$1,107
2 BR	\$185	\$211	\$1,373

Studio	\$77	\$98	\$602
1 BR	\$116	\$137	\$875
2 BR	\$153	\$174	\$1,134

_	days prior to chock out)					
	Studio	\$67	\$88	\$532		
	1 BR	\$106	\$126	\$802		
	2 BR	\$143	\$164	\$1,064		

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Trump International Hotel Las Vegas

HTLV Vacation Suites (Las Vegas, NV)

POINTS REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	525	1,050	5,250	
1 Bedroom	720	1,440	7,200	
1 Bedroom Plus	930	1,860	9,300	
2 Bedroom	1,050	2,100	10,500	
2 Bedroom Plus	1,260	2,520	12,600	

GOLD: Wee	ks 1–6, 23	-34, 46-50)
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio Plus	375	750	3,750
1 Bedroom	510	1,020	5,100
1 Bedroom Plus	630	1,260	6,300
2 Bedroom	750	1,500	7,500
2 Bedroom Plus	870	1,740	8,700

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio Plus	\$142	\$168	\$1,072
1 Bedroom	\$147	\$173	\$1,107
1 Bedroom Plus	\$168	\$194	\$1,254
2 Bedroom	\$185	\$211	\$1,373
2 Bedroom Plus	\$218	\$244	\$1,604

, ,			/
Studio Plus	\$111	\$132	\$840
1 Bedroom	\$116	\$137	\$875
1 Bedroom Plus	\$137	\$158	\$1,022
2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$181	\$202	\$1,330

Elara, a Hilton Grand Vacations Club

LV Tower 52 Vacation Suites (Las Vegas, NV)

POINTS REQUIREMENTS

PLATINUM: Weeks 7-22, 35-45, 51-52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	220	440	2,200	
Studio Plus	350	700	3,500	
1 Bedroom	480	960	4,800	
1 Bedroom Plus	550	1,100	5,500	
1 Bedroom Grand	700	1,400	7,000	
1 BR Grand Plus	780	1,560	7,800	
2 Bedroom	840	1,680	8,400	
2 Bedroom Plus	960	1,920	9,600	

GOLD: Weeks 1-6, 23-34, 46-50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
Studio Plus	250	500	2,500	
1 Bedroom	340	680	3,400	
1 Bedroom Plus	400	800	4,000	
1 Bedroom Grand	500	1,000	5,000	
1 BR Grand Plus	550	1,100	5,500	
2 Bedroom	580	1,160	5,800	
2 Bedroom Plus	700	1,400	7,000	

Club Point Requirements and Open Season Rental, Continued

Elara, a Hilton Grand Vacations Club, Continued

LV Tower 52 Vacation Suites (Las Vegas, NV)

POINTS REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom Grand	920	1,840	9,200	
2 BR Grand Plus	1,140	2,280	11,400	
3 BR including Studio	1,060	2,120	10,600	
3 Bedroom Plus including Studio	1,310	2,620	13,100	
3 BR including 1 BR	1,320	2,640	13,200	
3 Bedroom Plus including 1 BR	1,510	3,020	15,100	
4 Bedroom	1,540	3,080	15,400	
4 Bedroom Plus	1,860	3,720	18,600	

GOLD: Weeks 1-6, 23-34, 46-50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom Grand	660	1,320	6,600	
2 BR Grand Plus	800	1,600	8,000	
3 BR including Studio	740	1,480	7,400	
3 Bedroom Plus including Studio	950	1,900	9,500	
3 BR including 1 BR	920	1,840	9,200	
3 Bedroom Plus including 1 BR	1,100	2,200	11,000	
4 Bedroom	1,080	2,160	10,800	
4 Bedroom Plus	1,350	2,700	13,500	

9 \$129	\$823
42 \$168	\$1,072
47 \$173	\$1,107
88 \$194	\$1,254
33 \$210	\$1,362
33 \$210	\$1,362
35 \$211	\$1,373
18 \$244	\$1,604
15 \$240	\$1,580
25 \$260	\$1,680
30 \$265	\$1,715
\$306	\$1,978
35 \$306	\$1,978
17 \$343	3 \$2,297
17 \$343	3 \$2,297
27 \$353	\$2,367
	47 \$173 588 \$194 33 \$210 33 \$210 35 \$211 18 \$244 15 \$240 25 \$260 30 \$265 \$306 55 \$306 57 \$306 57 \$343 57 \$343

Studio	\$77	\$98	\$602
Studio Plus	\$111	\$132	\$840
1 Bedroom	\$116	\$137	\$875
1 Bedroom Plus	\$137	\$158	\$1,022
1 Bedroom Grand	\$145	\$166	\$1,078
1 BR Grand Plus	\$145	\$166	\$1,078
2 Bedroom	\$153	\$174	\$1,134
2 Bedroom Plus	\$181	\$202	\$1,330
2 Bedroom Grand	\$180	\$200	\$1,320
2 BR Grand Plus	\$195	\$215	\$1,425
3 Bedroom including Studio	\$200	\$220	\$1,460
3 Bedroom Plus including Studio	\$233	\$254	\$1,694
3 BR including 1 BR	\$233	\$254	\$1,694
3 Bedroom Plus including 1 BR	\$285	\$306	\$2,058
4 Bedroom	\$285	\$306	\$2,058
4 Bedroom Plus	\$295	\$316	\$2,128

MOUNTAIN RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for Mountain Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Valdoro Mountain Lodge

Valdoro Mountain Lodge (Breckenridge, CO)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–15, 26–36, 47–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	350	700	3,500
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
3 Bedroom	840	1,680	8,400

GOLD: Weeks 20-25			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	250	500	2,500
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
3 Bedroom	580	1,160	5,800

SILVER: Weeks 37-46				
Studio Plus	170	340	1,700	
1 Bedroom	240	480	2,400	
1 Bedroom Plus	300	600	3,000	
2 Bedroom	350	700	3,500	
2 Bedroom Plus	410	820	4,100	
3 Bedroom	410	820	4,100	

BRONZE: Weeks 16–19				
Studio Plus	120	240	1,200	
1 Bedroom	170	340	1,700	
1 Bedroom Plus	220	440	2,200	
2 Bedroom	250	500	2,500	
2 Bedroom Plus	300	600	3,000	
3 Bedroom	300	600	3,000	

MOUNTAIN RESORTS:

Club Point Requirements and Open Season Rental, Continued

Valdoro Mountain Lodge, Continued

Valdoro Mountain Lodge (Breckenridge, CO)

PLATINUM: Weeks 1–15, 26–36, 47–52				
Studio Plus	\$120	\$146	\$918	
1 Bedroom	\$130	\$156	\$988	
1 Bedroom Plus	\$165	\$193	\$1,239	
2 Bedroom	\$165	\$193	\$1,239	
2 Bedroom Plus	\$184	\$210	\$1,366	
3 Bedroom	\$227	\$260	\$1,688	

GOLD: Weeks 20–25				
Studio Plus	\$89	\$110	\$686	
1 Bedroom	\$99	\$120	\$756	
1 Bedroom Plus	\$133	\$154	\$994	
2 Bedroom	\$133	\$154	\$994	
2 Bedroom Plus	\$147	\$168	\$1,092	
3 Bedroom	\$195	\$217	\$1,431	

SILVER: Weeks 37–46			
Studio Plus	\$78	\$99	\$609
1 Bedroom	\$89	\$110	\$686
1 Bedroom Plus	\$121	\$143	\$913
2 Bedroom	\$121	\$143	\$913
2 Bedroom Plus	\$137	\$158	\$1,022
3 Bedroom	\$184	\$205	\$1,351

BRONZE: Weeks 16–19			
Studio Plus	\$78	\$99	\$609
1 Bedroom	\$89	\$110	\$686
1 Bedroom Plus	\$121	\$143	\$913
2 Bedroom	\$121	\$143	\$913
2 Bedroom Plus	\$137	\$158	\$1,022
3 Bedroom	\$184	\$205	\$1,351

MOUNTAIN RESORTS:

Club Point Requirements and Open Season Rental, Continued

Sunrise Lodge, a Hilton Grand Vacations Club

Sunrise Lodge (Park City, UT)

POINTS REQUIREMENTS

PLATINUM: Weeks 1–15, 47–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio+	350	700	3,500	
Studio Prem.	380	760	3,800	
1 BR +	620	1,240	6,200	
1 BR Prem.	720	1,440	7,200	
2 BR +	840	1,680	8,400	
2 BR Prem.	1,050	2,100	10,500	
3 BR +	960	1,920	9,600	
3 BR Prem.	1,260	2,520	12,600	
4 BR +	1,150	2,300	11,500	
4 BR Prem.	1,530	3,060	15,300	

	GOLD: Weeks 20-36				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio+	250	500	2,500		
Studio Prem.	270	540	2,700		
1 BR +	420	840	4,200		
1 BR Prem.	510	1,020	5,100		
2 BR +	580	1,160	5,800		
2 BR Prem.	750	1,500	7,500		
3 BR +	700	1,400	7,000		
3 BR Prem.	870	1,740	8,700		
4 BR +	960	1,920	9,600		
4 BR Prem.	1,230	2,460	12,300		

SILVER: Weeks 16–19, 37–46				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio+	170	340	1,700	
Studio Prem.	190	380	1,900	
1 BR +	300	600	3,000	
1 BR Prem.	360	720	3,600	
2 BR +	410	820	4,100	
2 BR Prem.	525	1,050	5,250	
3 BR +	480	960	4,800	
3 BR Prem.	615	1,230	6,150	
4 BR +	700	1,400	7,000	
4 BR Prem.	870	1,740	8,700	

Studio+	\$120	\$146	\$918
Studio Prem.	\$130	\$156	\$988
1 BR +	\$165	\$193	\$1,239
1 BR Prem.	\$184	\$210	\$1,366
2 BR +	\$184	\$210	\$1,366
2 BR Prem.	\$211	\$237	\$1,555
3 BR +	\$265	\$306	\$1,978
3 BR Prem.	\$302	\$344	\$2,240
4 BR +	\$312	\$354	\$2,310
4 BR Prem.	\$322	\$364	\$2,380

Studio+	\$89	\$110	\$686
Studio Prem.	\$99	\$120	\$756
1 BR +	\$133	\$154	\$994
1 BR Prem.	\$147	\$168	\$1,092
2 BR +	\$147	\$168	\$1,092
2 BR Prem.	\$174	\$195	\$1,281
3 BR +	\$233	\$254	\$1,694
3 BR Prem.	\$266	\$286	\$1,922
4 BR +	\$276	\$296	\$1,992
4 BR Prem.	\$286	\$306	\$2,062

Studio+	\$78	\$99	\$609
Studio Prem.	\$89	\$110	\$686
1 BR +	\$121	\$143	\$913
1 BR Prem.	\$137	\$158	\$1,022
2 BR +	\$137	\$158	\$1,022
2 BR Prem.	\$164	\$185	\$1,211
3 BR +	\$223	\$244	\$1,624
3 BR Prem.	\$225	\$276	\$1,728
4 BR +	\$265	\$286	\$1,918
4 BR Prem.	\$275	\$296	\$1,988

CALIFORNIA RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for California Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations Club at MarBrisa

Grand Pacific MarBrisa Resort (Carlsbad, CA)

POINTS REQUIREMENTS

PLATINUM: Weeks 22-42, 51-52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio/Studio Plus	350	700	3,500	
1 Bedroom	480	960	4,800	
1 Bedroom Plus	620	1,240	6,200	
2 Bedroom	700	1,400	7,000	
2 Bedroom Plus	840	1,680	8,400	
2 Bedroom Prem.	960	1,920	9,600	
3 Bedroom	840	1,680	8,400	
3 Bedroom Plus	960	1,920	9,600	

GOLD: Weeks 1-21, 43-50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio/Studio Plus	250	500	2,500	
1 Bedroom	340	680	3,400	
1 Bedroom Plus	420	840	4,200	
2 Bedroom	500	1,000	5,000	
2 Bedroom Plus	580	1,160	5,800	
2 Bedroom Prem.	700	1,400	7,000	
3 Bedroom	580	1,160	5,800	
3 Bedroom Plus	700	1,400	7,000	

Studio	\$109	\$129	\$823
Studio Plus	\$120	\$146	\$918
1 Bedroom	\$130	\$156	\$988
1 Bedroom Plus	\$165	\$193	\$1,239
2 Bedroom	\$165	\$193	\$1,239
2 Bedroom Plus	\$184	\$210	\$1,366
2 Bedroom Prem.	\$211	\$237	\$1,555
3 Bedroom	\$227	\$260	\$1,688
3 Bedroom Plus	\$265	\$306	\$1,978

Studio	\$77	\$98	\$602
Studio Plus	\$89	\$110	\$686
1 Bedroom	\$99	\$120	\$756
1 Bedroom Plus	\$133	\$154	\$994
2 Bedroom	\$133	\$154	\$994
2 Bedroom Plus	\$147	\$168	\$1,092
2 Bedroom Prem.	\$174	\$195	\$1,281
3 Bedroom	\$195	\$217	\$1,431
3 Bedroom Plus	\$233	\$254	\$1,694

SOUTH CAROLINA RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for South Carolina Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
orior to check-in	prior to check-out	prior to check-out

Ocean Oak Resort by Hilton Grand Vacations Club

MBV Vacation Suites (Hilton Head, SC)

POINTS REQUIREMENTS

PLATINUM: Weeks 21–35				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 BR	700	1,400	7,000	
2 BR Plus	840	1,680	8,400	
2 BR Prem.	960	1,920	9,600	

GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
2 BR	500	1,000	5,000	
2 BR Plus	580	1,160	5,800	
2 BR Prem	700	1,400	7,000	

SILVER: Weeks 1–7, 48–50					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
2 BR	350	700	3,500		
2 BR Plus	410	820	4,100		
2 BR Prem.	480	960	4,800		

2 BR	\$311	\$331	\$2,237
2 BR Plus	\$363	\$383	\$2,601
2 BR Prem.	\$466	\$486	\$3,322

2 BR	\$205	\$228	\$1,504
2 BR Plus	\$255	\$275	\$1,845
2 BR Prem.	\$295	\$320	\$2,140

_				
	2 BR	\$127	\$137	\$919
	2 BR Plus	\$160	\$170	\$1,150
	2 BR Prem.	\$209	\$219	\$1,493

SOUTH CAROLINA RESORTS:

Club Point Requirements and Open Season Rental, Continued

Ocean 22 by Hilton Grand Vacations Club

Ocean 22 Vacation Suites (Myrtle Beach, SC)

POINTS REQUIREMENTS

PLATINUM: Weeks 21–35				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
1 BR	480	960	4,800	
1 BR Plus	620	1,240	6,200	
2 BR	700	1,400	7,000	
2 BR Plus	840	1,680	8,400	
3 BR Plus	960	1,920	9,600	

1 OH 11 O KE QOIKEMENTO				
GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 BR	340	680	3,400	
1 BR Plus	420	840	4,200	
2 BR	500	1,000	5,000	
2 BR Plus	580	1,160	5,800	
3 BR Plus	700	1,400	7,000	

SILVER: Weeks 1–7, 48–50				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
1 BR	240	480	2,400	
1 BR Plus	300	600	3,000	
2 BR	350	700	3,500	
2 BR Plus	410	820	4,100	
3 BR Plus	480	960	4,800	

1 BR	\$151	\$177	\$1,135
1 BR Plus	\$185	\$215	\$1,385
2 BR	\$185	\$210	\$1,370
2 BR Plus	\$205	\$230	\$1,510
3 BR Plus	\$265	\$310	\$1,990

1 BR	\$100	\$121	\$763
1 BR Plus	\$135	\$155	\$1,005
2 BR	\$135	\$155	\$1,005
2 BR Plus	\$150	\$170	\$1,110
3 BR Plus	\$235	\$255	\$1,705

_	adys prior to check odty				
	1 BR	\$88	\$111	\$685	
	1 BR Plus	\$122	\$144	\$920	
	2 BR	\$122	\$144	\$920	
	2 BR Plus	\$139	\$160	\$1,036	
	3 BR Plus	\$225	\$245	\$1,635	

SOUTH CAROLINA RESORTS:

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Anderson Ocean Club

AOC Vacation Suites (Myrtle Beach, SC)

POINTS REQUIREMENTS

PLATINUM: Weeks 21–35				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	220	440	2,200	
1 BR	480	960	4,800	
1 BR Plus	620	1,240	6,200	
2 BR	700	1,400	7,000	
2 BR Plus	840	1,680	8,400	
3 BR Plus	960	1,920	9,600	

GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
1 BR Plus	420	840	4,200	
2 BR	500	1,000	5,000	
2 BR Plus	580	1,160	5,800	
3 BR Plus	700	1,400	7,000	

SILVER: Weeks 1–7, 48–50					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio	110	220	1,100		
1 BR	240	480	2,400		
1 BR Plus	300	600	3,000		
2 BR	350	700	3,500		
2 BR Plus	410	820	4,100		
3 BR Plus	480	960	4,800		

Studio	\$116	\$141	\$887
1 BR	\$121	\$146	\$922
1 BR Plus	\$155	\$182	\$1,166
2 BR	\$155	\$182	\$1,166
2 BR Plus	\$175	\$200	\$1,300
3 BR Plus	\$250	\$295	\$1,885

		. (- 0	8 -
Studio	\$85	\$105	\$655
1 BR	\$88	\$110	\$682
1 BR Plus	\$120	\$145	\$915
2 BR	\$120	\$145	\$915
2 BR Plus	\$137	\$160	\$1,028
3 BR Plus	\$225	\$245	\$1,635

Studio	\$73	\$93	\$571
1 BR	\$78	\$100	\$612
1 BR Plus	\$110	\$135	\$845
2 BR	\$110	\$135	\$845
2 BR Plus	\$127	\$147	\$949
3 BR Plus	\$215	\$235	\$1,565

URBAN RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for the following Urban Resorts

365 DAYS	276 DAYS	45 DAYS	15 DAYS
HOME WEEK	HOME RESORT PRIORITY Reservation Window begins 276-45 days prior to check-out	CLUB	OPEN SEASON
PRIORITY		SEASON	Rental
Reservation Window		Reservation Window	Reservation Window
begins 365–276 days		begins 44 days	begins 30 days
prior to check-in		prior to check-out	prior to check-out

West 57th Street by Hilton Club

West 57th Vacation Suites (New York, NY)

POINTS REQUIREMENTS

PLATINUM: Weeks 7-28, 35-52					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio Plus	525	1,050	5,250		
Studio Prem.	720	1,440	7,200		
1 Bedroom	720	1,440	7,200		
1 Bedroom Plus	930	1,860	9,300		
1 Bedroom Prem.	1,260	2,520	12,600		
1 Bedroom Pent.	1,680	3,360	16,800		

GOLD: Weeks 1-6, 29-34					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio Plus	375	750	3,750		
Studio Prem.	510	1,020	5,100		
1 Bedroom	510	1,020	5,100		
1 Bedroom Plus	630	1,260	6,300		
1 Bedroom Prem.	870	1,740	8,700		
1 Bedroom Pent.	1,160	2,320	11,600		

Studio Plus	\$392	\$392	\$2,744
Studio Prem.	\$568	\$568	\$3,976
1 Bedroom	\$627	\$627	\$4,389
1 Bedroom Plus	\$675	\$675	\$4,725
1 Bedroom Prem.	\$1,110	\$1,110	\$7,770
1 Bedroom Pent.	\$1,150	\$1,150	\$8,050

(segiming is days prior to eneed out)				
Studio Plus	\$315	\$373	\$2,379	
Studio Prem	\$320	\$380	\$2,420	
1 Bedroom	\$440	\$502	\$3,266	
1 Bedroom Plus	\$438	\$496	\$3,240	
1 Bedroom Prem.	\$438	\$496	\$3,240	
1 Bedroom Pent.	\$575	\$665	\$4,295	

URBAN RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for the following Urban Resorts

365 DAYS	276 DAYS	60 DAYS	45 DAYS	30 DAYS
HOME WEEK PRIORITY Reservation Window begins 365–276 days prior to check-in	HOME RESORT PRIORITY Reservation Window begins 276–60 days prior to check-out	BY HILTON CLUB PRIORITY Reservation Window begins 59–45 days prior to check-out	CLUB SEASON Reservation Window begins 44 days prior to check-out	OPEN SEASON Reservation Window begins 30 days prior to check-out

The Residences by Hilton Club

The Residences HC Suites (New York, NY)

POINTS REQUIREMENTS

PLATINUM: Weeks 7–28, 35–52					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio Prem.	720	1,440	7,200		
Studio Prem Plus	1,050	2,100	10,500		
Studio Pent.	1,440	2,880	14,400		
1 Bedroom Prem	1,260	2,520	12,600		
1 Bedroom Pent.	1,680	3,360	16,800		

GOLD: Weeks 1-6, 29-34					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio Prem.	510	1,020	5,100		
Studio Prem. Plus	750	1,500	7,500		
Studio Pent.	1,050	2,100	10,500		
1 Bedroom Prem.	870	1,740	8,700		
1 Bedroom Pent.	1,160	2,320	11,600		

Studio Prem.	\$700	\$700	\$4,900
Studio Prem Plus	\$850	\$850	\$5,950
Studio Pent.	\$1,200	\$1,200	\$8,400
1 Bedroom Prem.	\$1,150	\$1,150	\$8,050
1 Bedroom Pent.	\$1,400	\$1,400	\$9,800

(0 0)			/
Studio Prem.	\$500	\$500	\$3,500
Studio Prem Plus	\$800	\$800	\$5,600
Studio Pent.	\$850	\$850	\$5,950
1 Bedroom Prem.	\$750	\$750	\$5,250
1 Bedroom Pent.	\$950	\$950	\$6,650

URBAN RESORTS:

Reservation Windows, Club Point Requirements and Open Season Rental Rates

The District by Hilton Club

TD Suites (Washington, DC)

POINTS REQUIREMENTS

PLATINUM: Weeks 10-32, 37-43			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
2 Bedroom	1,440	2,880	14,400

GOLD: Weeks 1-9, 33-36, 44-52				
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY NIGHTLY WEEK				
1 Bedroom	510	1,020	5,100	
1 Bedroom Plus	630	1,260	6,300	
2 Bedroom	1,050	2,100	10,500	

1 Bedroom	\$185	\$205	\$1,355
1 Bedroom Plus	\$215	\$235	\$1,565
2 Bedroom	\$390	\$415	\$2,805

, ,			*
1 Bedroom	\$120	\$140	\$900
1 Bedroom Plus	\$135	\$155	\$1,005
2 Bedroom	\$290	\$310	\$2,090

Reservation Windows, Club Point Requirements and Open Season Rental Rates

Reservation Windows for European Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY Reservation Window	CLUB SEASON Reservation Window	OPEN SEASON Rental Reservation Window
begins 365–276 days prior to check-in	begins 276 days prior to check-out	begins 30 days prior to check-out

Hilton Grand Vacations Club at Borgo alle Vigne

Borgo Alle Vigne Fractional Ownership Project (Italy)

POINTS REQUIREMENTS

PLATINUM: Weeks 1, 13-39, 52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
3 Bedroom	840	1,680	8,400
3 Bedroom Prem.	1,150	2,300	11,500

GOLD: Weeks 2-12, 40-51			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
3 Bedroom	580	1,160	5,800
3 Bedroom Prem.	960	1,920	9,600

1 Bedroom	\$130	\$156	\$988
1 Bedroom Plus	\$165	\$193	\$1,239
2 Bedroom	\$165	\$193	\$1,239
2 Bedroom Plus	\$184	\$210	\$1,366
3 Bedroom	\$227	\$260	\$1,688
3 Bedroom Prem.	\$302	\$344	\$2,240

(0 0)			/
1 Bedroom	\$120	\$99	\$777
1 Bedroom Plus	\$133	\$154	\$994
2 Bedroom	\$133	\$154	\$994
2 Bedroom Plus	\$147	\$168	\$1,092
3 Bedroom	\$195	\$217	\$1,431
3 Bedroom Prem.	\$266	\$286	\$1,922

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Coylumbridge

Lodges at Hilton Coylumbridge Hotel, Aviemore (Scotland)

POINTS REQUIREMENTS

PLATINUM: Weeks 14-15, 21-43, 51-52				-52
	UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
	2 Bedroom	700	1,400	7,000
	3 Bedroom	840	1,680	8,400

GOLD: Weeks 7–13, 16–20				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom	500	1,000	5,000	
3 Bedroom	580	1,160	5,800	

SILVER: Weeks 5-6, 44-47				
2 Bedroom	350	700	3,500	
3 Bedroom	410	820	4,100	

BRONZE: 1- 4, 48-50			
2 Bedroom	250	500	2,500
3 Bedroom	300	600	3,000

PLATINUM: We	eks 14–15	, 21–43, 51	-52
2 Bedroom	\$165	\$193	\$1,239
3 Bedroom	\$227	\$260	\$1,688

GOLD: Weeks 7–13, 16–20				
2 Bedroom	\$133	\$154	\$994	
3 Bedroom	\$195	\$217	\$1,431	

SILVER: Weeks 5-6, 44-47				
2 Bedroom	\$121	\$143	\$913	
3 Bedroom	\$184	\$225	\$1,411	

BRONZE: 1-4, 48-50				
2 Bedroom	\$121	\$143	\$913	
3 Bedroom	\$184	\$225	\$1,411	

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Craigendarroch Lodges

Craigendarroch Lodges (Scotland)

POINTS REQUIREMENTS

PLATINUM: Weeks 1, 14–15, 21–43, 51–52					
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY WEEK					
1 Bedroom	480	960	4,800		
2 Bedroom	700	1,400	7,000		
3 Bedroom	840	1,680	8,400		
3 Bedroom Plus	960	1,920	9,600		

GOLD: Weeks 7-13, 16-20				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	340	680	3,400	
2 Bedroom	500	1,000	5,000	
3 Bedroom	580	1,160	5,800	
3 Bedroom Plus	700	1,400	7,000	

SILVER: Weeks 5-6, 44-47				
1 Bedroom	240	480	2,400	
2 Bedroom	350	700	3,500	
3 Bedroom	410	820	4,100	
3 Bedroom Plus	480	960	4,800	

BRONZE: 2-4, 48-50				
1 Bedroom	170	340	1,700	
2 Bedroom	250	500	2,500	
3 Bedroom	300	600	3,000	
3 Bedroom Plus	340	680	3,400	

PLATINUM: Weeks 1, 14–15, 21–43, 51–52			
1 Bedroom	\$130	\$156	\$988
2 Bedroom	\$165	\$193	\$1,239
3 Bedroom	\$227	\$260	\$1,688
3 Bedroom Plus	\$265	\$306	\$1,978

GOLD: Weeks 7-13, 16-20					
1 Bedroom	\$99	\$120	\$756		
2 Bedroom	\$133	\$154	\$994		
3 Bedroom	\$195	\$217	\$1,431		
3 Bedroom Plus	\$233	\$254	\$1,694		

SILVER: Weeks 5-6, 44-47				
1 Bedroom	\$89	\$110	\$686	
2 Bedroom	\$121	\$143	\$913	
3 Bedroom	\$184	\$205	\$1,351	
3 Bedroom Plus	\$223	\$244	\$1,624	

BRONZE: 2-4, 48-50				
1 Bedroom	\$89	\$110	\$686	
2 Bedroom	\$121	\$143	\$913	
3 Bedroom	\$184	\$205	\$1,351	
3 Bedroom Plus	\$223	\$244	\$1,624	

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Craigendarroch Suites

Craigendarroch Suites (Scotland)

POINTS REQUIREMENTS

PLATINUM: Weeks 1, 14–15, 21–43, 52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio Plus	350	700	3,500	
Studio Prem.	620	1,240	6,200	
1 BR Prem	840	1,680	8,400	
2 BR Prem.	960	1,920	9,600	

GOLD: Weeks 7–13, 16–20					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio Plus	250	500	2,500		
Studio Prem.	420	840	4,200		
1 BR Prem.	580	1,160	5,800		
2 BR Prem.	700	1,400	7,000		

SILVER: Weeks 2–6, 44–51				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio Plus	170	340	1,700	
Studio Prem.	300	600	3,000	
1 BR Prem.	410	820	4,100	
2 BR Prem.	480	960	4,800	

Studio Plus	\$120	\$146	\$918
Studio Prem	\$130	\$156	\$988
1 BR Prem.	\$184	\$210	\$1,366
2 BR Prem.	\$211	\$237	\$1,555

		\ 0	0
Studio Plus	\$89	\$110	\$686
Studio Prem.	\$99	\$120	\$756
1 BR Prem.	\$147	\$168	\$1,092
2 BR Prem.	\$174	\$195	\$1,281

u	days prior to check-out)				
	Studio Plus	\$78	\$99	\$609	
	Studio Prem.	\$89	\$110	\$686	
	1 BR Prem.	\$137	\$158	\$1,022	
	2 BR Prem.	\$164	\$185	\$1,211	

Club Point Requirements and Open Season Rental, Continued

Hilton Grand Vacations Club at Dunkeld

Lodges at Hilton Dunkeld House Hotel, Dunkeld (Scotland)

POINTS REQUIREMENTS

PLATINUM: Weeks 14-15, 21-43, 51-52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
2 Bedroom	700	1,400	7,000	
3 Bedroom	840	1,680	8,400	

GOLD: Weeks 7-13, 16-20				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom	500	1,000	5,000	
3 Bedroom	580	1,160	5,800	

SILVER: Weeks 5-6, 44-47				
2 Bedroom	350	700	3,500	
3 Bedroom	410	820	4,100	

BRONZE: Weeks 1-4, 48-50				
2 Bedroom	250	500	2,500	
3 Bedroom	300	600	3,000	

PLATINUM: Weeks 14-15, 21-43, 51-52			
2 Bedroom	\$165	\$193	\$1,239
3 Bedroom	\$227	\$260	\$1,688

GOLD: V	Veeks 7–13	3, 16–20	
2 Bedroom	\$133	\$154	\$994
3 Bedroom	\$195	\$217	\$1,431

SILVER:	Weeks 5-6	6, 44–47	
2 Bedroom	\$121	\$143	\$913
3 Bedroom	\$184	\$205	\$1,351

BRONZE: Weeks 1–4, 48–50				
2 Bedroom	\$121	\$143	\$913	
3 Bedroom	\$184	\$205	\$1,351	

Club Point Requirements and Open Season Rental, Continued

Hilton Vilamoura Vacation Club

Hilton Vilamoura as Cascatas Vacation Ownership Club (Portugal)

POINTS REQUIREMENTS

Week	PLATI s 14–15,		51–52
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
1 BR	480	960	4,800
2 BR	700	1,400	7,000

GOLD: Weeks 7–13, 16–19, 44–45				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	

SILVER: Weeks 1-6, 46-50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 BR	240	480	2,400	
2 BR	350	700	3,500	

1 BR	\$130	\$156	\$988
2 BR	\$165	\$193	\$1,239

		, 0	0
1 BR	\$99	\$120	\$756
2 BR	\$133	\$154	\$994

ī				
	1 BR	\$89	\$110	\$686
	2 BR	\$121	\$143	\$913